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Direction : Answer the following questions by selecting the most appropriate option.
10N 0y selecting the most @

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zonc of proximal development

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically ?

(1) A.T. Jersild

.(2) E.B. Hurlock

(3) L P. Davis
(4) H. Sorenson

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

.(2) Guided discovery learning

(3) Problem based learning
(4) Project based learning

Positive facilitation of present learning
through past leamning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1) Vertical
(3) Lateral

-(2) Sequential
(4) Bilateral

P.T.0.
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(3) HSMIIS HERE

(4) =T
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Which of the following statement most

appropriately defines the lcrm-mcluslon.?

(1) Educating children with special
needs in special school

' (2) Educating children with special

needs in special classroom of
school .

(3) Educating children with special
needs most of the time in regular
class .

(4) Educating children with special

* " needs full time in the regular
classroom

Which of the following programme is

not suitable for gifted children ?

(1) Special classes

.(2) Remedial Teaching

(3) Acceleration _

(4) Enrichment in regular classroom
setting

. According to Piaget, adolescents ability

to evaluate the logic of verbal statement
without  referring to  real-world
circumstances is :

(1) Propositional thought

~(2) Transitive inference

(3) Cognitive mapping

(4) Decentration

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia  (2) Dysgraphia

(3) Dyslexia  (4) Dysphasis

. According to Gardner, the ability to

deteet and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known gs -

(1) Linguistic intelligence

A2) Bodily - kinesthetjc intelligence
(3) Interpersonal intelligence

(4) Intrapersonal intelligence
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10. faeme™ WeT ity G 10. The democratic organisation of school
yfE S §, ST T R influence learning, this factor of
e © : learning is related to :
(1) Rty fose w1 & (1) Methodological aspect
(2) QIS 98 .(2) Social aspect
(3) i T | (3) Physiological aspect
C)) GRIERIREAEI (4) Psychological aspect
11. w9 foErli  Sfem l%mmg 27 11. Which of the following type of learning
i@t 38 THER & S U &7 style is used when students approach of
I G & qr ST learning material in a way that _helps
'y & i f the
fraffag & @ aF-a1 ® ? the?l 'u[ndr’erstand the meaning o
TS e materials ?
1) ™ @ Ll (1) Practical style (2) Impulsive style
©) waE A (4) TET A (3) Surface style (4) Deep style
12. FERRS ‘@’ﬁ Z%l_"‘“lﬁqﬁ'r) ¥ 799 3 R 12. Which of the following is a good
Prafafad & ° BF-01 Th T oo assessment strategy to avoid cultural
AT & 7 ' bias ?
(1) R Rt @ S feenfiEr & (1) Assess students using a variety of
e & 1Y &3 methods
(2) T D A TAET FH IGET (2) Use a single, good standardized
T test
(3) e fafTaret I gD (3) Assume that ethnic differences are
F PHROT HAEAT due to heredity
(4) ST B Seed B [OQ QeI & (4) Avoid using portfolio  for
I @ Al assessment purposes
' i i bali comic
1 Eﬂgﬂiﬂ # Fqdan o & g 98 13. Rohan is reading a latest Ba}hu
’ -?—;q% Fifs a8 39 o B g &l B book because he cannot wait to see what
T B agEe ok 9ed dReR d happens to Bahubali and his family. This
T B | T8 e TR B is best example of :
SR SIRERT & (1) Only intrinsic motivation
(;) g SIRERET (2) Only extrinsic motivation
E3; a?ﬁﬁ:lgll'{ T 2 R # SRERT «(3) Both intrinsic and extrinsic motivation
O TRIREHARWAIIE | mion I v i
1 T e ;i:q% FA partners stimulate and encourage one
il QEEf P 3 another is called :
, & : (1) Team teaching
(1) = (?.pﬂ) REY (2) Programmed instruction
(2) S g2 : .(3) Cooperative learning
g; EHE" T e (4) Discovery learning
P.1.0.
Level-3/4314
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5. Which of the following is nof an

appropriate  strategy for improving

Students problem solving ?

(1) Functional fixedness of students

(2) Give extensive opportunitics to
solve real-world problems

3) Involve parents in.
problem solving

J4) Monitor students effective and

children's

ineffective =~ problem solving
strategics
16.  According to Bronfenbrenner's

1%

18.

19.

Ecological Theory, student's family,
peers and school etc. influence his/her
. development and they belong to the :

(1) Chrono system (2) Micro system
(3) Macro system “ Exo system
......... is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(1) Skinner
(3) Piaget

(2) Seigler
-(4) Bandura
Speaking or writing in such a way as to

have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language
4(3) Pragmatics of language
(4) Morphemes of language

In Kohlberg's theory, g

moral development g internalized and
not based on externa] Standards ?

(1) Pre conventiong] leve]

(2) Conventional leye]

(3) Post conventiong] level
(4) Mutual interpersopg) leve]

Wwhich level
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R & oger, vl & § PG 00. According to Piaget, which of the
g P e B following characteristics is not related
arqen § g 787 & ? to formal operational stage of children ?
(D qREICS - TR T .(1) Hypothetico-deductive reasoning
(2) SEHard T (2) Idealistic reasoning
(3) wfh T (3) Spatial reasoning
(4) ST T (4) Abstract reasoning
gt A Sl B A A PR 33 21.. Which of the following statement is
PA-T1 BT Fel & ! correct about the nature of emotions ?
(1) gamt I IR ey AR (1) Emotional expressions are
qRafdd & S 21 modified by learning.
(2) §aT i W SYEen ¥ (2) Emotions are permanent state of
. the organism.
(3) €I ARG IEH BN AT By .g .
gl .(3) Emotions are aroused by internal
P G~ stimuli.
*) -t o fre o 2 : (4) Certain facial expressions of
) I emotions have different meanings.
3 aom A e & WM o & e 22, Children considered as low vision who
gfe deor B © have a visual acuity between :
(1) 20/70 & 20/200 (1) 20/70 to 20/200
(2) A9 Fare A= & qY 20/20 e (2) 20/20 vision with corrective lenses
3) 29 FaRs @t & 99 6/6 e (3) 6/6 vision with corrective lenses
(4) 20/10 & 20/30 «(4) 20/10 to 20/30
freix frerRfat & a9y 1 Fa TE @ 23. Most suitable strategy for a teacher,
SoTF ® R wdis SR B when he/she is working with adolescent
AT B students is to :
(1) RrenRfal & gamm & & g B (1) Ask students to make comparisons
() & FHEr g B Rrenfifat & (2) Propose a problem and invite
qReeqHradt &1 femieT A students to form hypothesis
(3) Tt @ HHaR dRpare 7 T (3) Give children experience in
T T : ordering operations
(4) T o g qACS STl TeTs! (4) Construct an inclined plane or a hill
AT /FrteT
P.T.O.
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24. Which of the following statement is
incorrect about the principles of child
development ?

(1) Development follows a definite and
predictable pattern.

A2) All individuals are similar in their

development.

(3) Development is  product of
hereditary and environment.

(4) Development works on
principle of integration.

the

25. A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In

this example development is primarily
influenced by :

(1) Heredity

.(2) Environment

(3) Early-later experience
« (4) Continuity

26. Which teaching strategy is most likely
to foster the development of critical
thinking skill of students ?

(1) Giving a multiple choice test
(2) Assignment for students to create
timelines of important historical
dates
(3) Giving worksheets to students that
require them to recall the facts
presented in their text books
~(4) Presenting students with statements
such as "Lal Bahadur Shastri was

our greatest Prime Minister" to
defend or refute

e R R R TR e
Scanned by CamScanner
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27. According 1o Erikson, in complex

28.

29.

30.

socictics teenagers experience which of
the following state ?

(1) Identity crisis

.(2) Identity achievement
(3) Identity moratorium

,(4) Identity foreclosure

Which of the following question is most
likely to get students to reflect on their
purposc ?

(1) What is most important to you in
your life ?

. (2) How can you organise your life ?

-(3) What can you do to get good
Y
grades ?

(4) How can you set better short term
goal ?

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

A1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

Young people mainly girls engage in
strict dicting and excessive exercise.
This eating disorder in adolescence is
known as :

(1) Anorexia Nervosa
. (2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

P.T.0.
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31. e & ‘qiRde oot m-ar @ ! %. w-fedy @ wefmbr # e F
(1) 7 @ 4 SFTT [ g -
@1 @« - (1) fsg + v = fasd
az.mﬁmﬁé’rm'ﬂﬁﬂaﬁgﬁﬂ () AP + H = FE
g7 3) R + a = TR
(1) 2 E’E‘Tﬁ‘ (4) T + SRR = TR
3) =mRd 4) IRE
) @ 37. “AN] we uiewr fewt amem @oH 87 -
33. Rpw Fwe & ‘oo agev & W A A R @ B sEer &
e g & 7 T gar ¥ 7
(1) ‘T (1) E=Ee
(2) S
(3) TERE @7
(4) () St |
34. IEiS g § g 9= B T AR 19 S |
(1) 7= . o e . |
8 3 38 H?ﬂ_ gfte 5 Rrerea g |
(3) onfess (1) FAES W W ThaEe § |
(4) safe Hﬂﬁ@ﬁ%l |
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s 78 gl § 7 B =, W, W, Tg R A
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) BeFa (4) SR T AT el a
(3) vBam WTWﬁﬁWMW
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M. e afe ¥ ogw 9= W T @) o
BT
(3) STEEH
(1) wgri
4) Iffaase
(2) g N
-(3) TGS 45. wfy @ g A o Reed ¥
(4) =i

42-5‘!‘#@3—%‘1’1%@%“%

Rdtvorarers g A 787 g € ¢

(1) Sufveg + AwiE = Sufve=imia
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Direction : Answer the following quﬁw%r opriate option.

46.

Choose the correct set of articles fr'om
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."
(1) a,a .(2) an, the
(3) the,a - (4) a,the
47. Choose the correct verb form in the
following sentence against the blank
Space so as to complete the sentence :
"My father .......... for Delhi
yesterday."
(1) leave (2) will leave
-(3) left (4) will be leaving
48. Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :
"You ...... (command) apologise or
face the consequences."
A1) must
(2) shall
(3) may
(4) could
49. Pick out the correct option to indicate
the use of adjective in the following
sentence :
"A Cool breeze blew from the geq v
(1) breeze (2) sea
(3) cool (4) blew
Level-3/4314

S0. Identify the underlined word in the

51.

52.

53.

given sentence.

I'see him passing my house every day.
(1) Gerund

.(2) Present Participle

(3) Infinitive

(4) Object

Identify the compound word from the
options given below :

(1) Development

“(2) Newspaper

(3) Powerful
(4) Childhood

Fill in the blank with the correct
preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in @ at

(3) on (4) within

Which one of the following sentences in

the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns,

(2) The principal hoisted the flag on
Independence Day,

(3) She is reading the newspaper.

(4) Our team won the match,

Scanned by CamScanner
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54. Which one of the following worgsg is
not anoun ?

(1) advice 2) rice
(3) device J4) nice
55. Choosc the word which

is  spelt
correctly :

(1) Beegning
(2) Biginning
(3) Beginning
(4) Begining

56. Which of the options given below is the

correct .passive form of the following
sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
" been presented by the Bhagvad
Gita. .

(3) The Bhagvad Gita has presented a
balanced philosophy of life.

(4) A balanced philosophy of l_ifc was
presented by the Bhagvad Gita.

57. "Reading improves your knowledge."
Identify the gerund in the above
sentence from the options given below :
(1) knowledge

—~(2) improves
(3) reading
(4) your

Level-3f431 4
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58. Sclect the correct option from the
foilowing that correctly transforms the

~ following sentence from Direct speech
to Indirect speech -

‘He said, 'Congratulations !"
(1) He congratulated me.
(2) He said to me congratulations.
«(3) He exclaimed congratulations. _
(4) He is saying congratulations.
59. Identify the correct meaning of the

underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

~2) very difficult to do
(3) pleasant to do '
(4) boring to do

60. Which one of the following words
~ underlined in the sentences given as

options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Lecla
on the stage.

.(3) Each actor performed in a circular
space on the stage in Raas Leela.

(4) The performing artist moved in a
circular space on the stage in Raas
Leela.

¢

P.T.O:
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< 3ea / GENERAL STUDIES -

[ AT A, aifse ofremal 7 TN 59 ud o1 / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

T : R e @ g 39 @ fo @98 ORI R g

Direction : Answer the following qzleer‘zMwﬂ appropriate option.

61. IR ST quimmn @t Roda @9 7 @
far om, & =t ok & 193 oK &
Tl SR 84T SRR H-ar B ?
iy T A2) P
3) Q 4 R

62. I I i § ¥ 97 et
(1) 171 A2) 131
(3) 161 (4) 181

63. fr=ifvfaa s=8f 9 ey § Ru T A
% TR fafg
i.  Critical ii. Criterion
iii. Crisis iv. Crisp

A il iv, i, i (2) i, i, iy, i
(3) iii,iv,i,ii  (4) iv,iii, i, ii
64. g/ 'PROPERTY' ¥ onRi & U¥ Ry
, % 751 & @ I & e ¥
g::ﬁ % 7% < oinl ol
B " | a?r g7 .
(1 o 21
(3) 4 4 3

65. 9 2ot # 77 98 S BIRT
1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 91T
(3) 15LS (4) 170R

66. & AR A T B IdFHw TR 3
AFA-TE @S A1 IR’ A WEE A
79 forq Rar 7 & ?

(1) &t (2) T
3w PORCE
Level-3/4314

61.

62.

63.

64.

65.

66.

If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?

(H) T 2) P

3) Q @ R

Find the Odd one out from given
options :

(1) 171 (2) 131

(3) 161 4) 181

Write the following words in the order
given in the dictionary :

1.  Critical ii. Criterion
iii. Crisis iv. Crisp
(1) iii, iv,ii,i  (2) i, iii, iv, i

(3) iii, iv, 1, ii (4) iv,iii, i, ii
In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

1) 0 @) 1

(34 4 3

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) SFU (2) oIT

(3) 15LS (4) 170R

Two persons A and B stand in front of
cach other in morning, If A's shadow's
lics in the left side of 'A", then in which
direction B's facing ?

(1) South (2) North

(3) East €)) ‘cht

Lieind
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68.

69.

70.

7.

72.
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qmmr&aﬁa@aﬂ%xﬁﬁﬁagmq-{
15% % g2 I 8, 9 AW AW W
A Hd § o oile qw sifkg
% 38 19% w9 @& ? L =
(1) 34% 2) 40%

() 25% 4) 30%

e 9§ uvEr, R & g Ied 9
g A R el O ad @, R
g SEH F b g A 7 T 4 Rew
ﬂﬂﬂ'ﬂﬁ\?ﬁl’g%:

(2) 30 @

(3) 50 ad @) 45 a§

R 6 W & Repa W, 8 U B A
ga:r & SET 8, o am/e ofee #
(1) 25% &9 (2) 25% &

(3) 3BU%EN  (4) 33%% TN

afr 2x+7_3x+11=2x+8_5 a., a
5 2 .

x=7?
(1 1 ' A2) -1

(3) 2 @2
qas%mwaasg@ﬂ%mzmaﬂﬂ
% qur g 924 e B 1 % I
%1 g6 Surg § FAN A & ?

(1) 7:6 () 6:7

"(3) 3:7 @ 7:3

wgfs @S & AW a1 a8 &
@< % 650 o qur 2 ad & & H
676 To B S ?

(1) 5205@  (2) 572%R
(3) 6005@  (4) 625FW

Level-3/4314

[15]

67.

68.

70.

71.

72,

[C]

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% ) 40%
(3) 25% (4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :
(1) 40 years (2) 30 years
(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
(1) 25% profit
(3) 33%% loss

(2) 25% loss
(4) 33%% profit

2x+7__3x+11=2x+8_

If
- 5 3 5, then
x=1?
M1 @2 -1
3) 2 4) 2
The curved surface area of a cylinder is

264 m? and its volume is 924 m®, then
what is the ratio between its diameter
and height ?
1) 7:6
5 R

(2) 6:7
4 7:3
What principal on compound interest

has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs.572
(3) Rs. 600 (4) Rs. 625

P.T.O.
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[C]
73 T WURY e &) o AT & W 2
at & R SuR Ry oy, o @9 A T
1% aF ofs 3 @ zad 240 TR
A T AR | 77 o BT D 7
(1) 500080  (2) 6,000%0
(3) 8,000%0 () 12,000%0
74. 125 WX T 7w 60 Rl T A9
B AN § T 0 g B 30 9878 A
TR HT N B 1 G B g ol © 7
(1) 375 Hex (2) 225 HeX
(@) 125 FT (4) 250 HeX
75. 3 WEH i ofw emg 16 af B AR
ST Y H ONGART 4 : 5 7 B, @
T BIR @ed B oy R 3 7
(1) 8 ad () 9 g%
3) 12 7 4) 16 a¥
76. fR8 ol § 60% REmd ofch § qur
70% T F St gu, AR 20% e
ar fowar W@ & o 2500
el T fwdt & St @ &, A g
QREr @ g fee ® ?
(1) 3000 (2) 3500
(3) 4000 4) 5000
77. A,BH TS & W% C iR D, E @ a3
BIEASRCE " i alRC, By
99 B @ ¥ A dew e
AEAH &9 F g E ?
() A,C & 73T 81 2)C,D & 37 3
| (3) D,C & 5/8T &1 (4)E, B & qg7 3
78. TF H1 A el €0 @t ¥) A o
| B%Eﬁiﬁxei%%m%mﬁraﬂ-{
;?%la"fzzmq%ﬁmtsmquqm.
(1) a1 | (2) I
3) SOR 1)
Level-3/4314
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73.

74,

75.

76.

=

78.

A Principal lends on simple interest for
tWo years, If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

() Rs.5000  (2) Rs.6,000

() Rs. 8,000  (4) Rs.12,000

At the speed of 60 km per hour, 125
meter iong train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter  (2) 225 meter

(3) 125 meter  (4) 250 meter

The average age of three boys is 16 years
and the ratio of their ages is 4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8years
(3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find
out total number of students

(1) 3000 (2) 3500

(3) 4000 (4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and Cis

clder to B, then which of the following
statements is necessarily frye 9

(1) Aiselderto C (2) Cis clder toD
(3) Disclderto C (4) Eis elder to B

Bottom surface of a cube ig empty. X is
marked between A and B. Y marked on
the left of A. Then Z marked o which
surface of cube ?

(1) bottomside (2) up side
(3) infrontside (4) in back side

a3y T N

Scanned by CamScanner




80.

81.

82.

83.

84.

85.
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A1) E & 33 B B

(2) B & R E %)
(3) D % 9y E ®|
@) DH A B
G 115 e O o 1 = e
nfafersr emfRafia & § ?
(1) 8 2 9
3) 12 @ 11
aRevel 98 fFefaiea & @ fra R &
78T et & 7
(2) QT

(1) Foum ,
A3) A (4) SAsIT

R <t gema: 98 7ex & R @ -
(1) RER (2) F¢R
_(3) Pyamit (4) JEas

RIS B&IReT Aa-2018 &

fr=ifoifaa & & PF-ar gewrl U o1 ?
(1)_fm 2) ®HH

(3) FopeaE  (4) fERfsEE
fore, forai T Hew STaRerd @ -

(1) & ) feax

(3) Ul (4) SEIT
e & & 7 oEl B HER W

A B Pt gewEE @
TG (walfes omafy wlwem) wH

(iii) =R Riz ggel

(iv) ¥t @

72 T T :

(1) @), (i), (iii), (iv)
{2) (i), (i), (iii), (iv)
-(3). (i), (iD), (iv), (iii)
<(4) (i), (iv), (iii), (i)

Level-3/4314

79.

80.

81.

82.

83.

84.

- 85.

[C]

A is the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) BissonofE.

(2) Eis fatherof B.

(3) E is husband of D.

(4) AissonofD.

In English alphabet, how many letters
are unchanged in mirror image ?

1) 8 2 9

3) 12 4 11

The Markanda river does not flow in
which of the following district ?

(1) Kurushetra (2) Sonipat

(3) Karnal (4) Ambala

The district, which is mainly irrigated -
by Jui Canal :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt (2) France

(3) Kazakhstan (4) Kyrgyzstan
The district, in which Gujari Mahal is
situated :

(1) Hansi (2) Hisar

(3) Panchkula  (4) Ambala

On the basis of extent of the period as
Chief Minister, arrange the following
Chief Ministers of Haryana in
descending order (longest serving first) :
(i) Bhajan Lal

(ii) Bansi Lal

(iii) Bhupinder Singh Hooda

(iv) Devi Lal

~ Choose the correct code :

(1) (), (i), (iii), (iv)
) @), (@), (i), (iv)
() (i), (i), (iv), (iii)
(4) (i), (iv), (iii), (i)

2. 1.0,
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[C] 4 L |
86. g 3q @ an i smfEd FAl T 86. Consider the following statements about "
AR BT Shanno Devi ;
i &l I (@) Shanno Devi was the Deputy
ORALR LR ‘ Speaker of Punjab Legislative
ll o e Assembly.
(b) ¥ efgen & T g, (b) When Haryana was formed; she
fer | o ot g T was elected as the Speaker of
| TR ¥ A PA-q/AE-E T e Haryana Legislative Assembly.
- R Which of the above statement/
i (1) 3 (a) T 3 :t:;tcgc;us isz’?rc true ?
(2) ¥ (b) T & ‘ iy Lapis toue
X (@) AR T (b) T E (2) Only (b) is true
g (.a) b (3) Neither (a) nor (b) is true J
l () (@) @ (b) & w g (4) Both (a) and (b) are true
: 87. ‘@ oRY WER-T B HIEH A 87. Who was the editor of 'Khair Andesh’
q7? Newspaper ?
(1) <ge (2) F&l & (1) Chandulal  (2) Murlidhar |
i (3) ©g W (4) 9 S (3) ChhotuRam (4) Sham Lal -
L 88. ¥ WMOw TN ¥ & X A |. 88. Consider the following statements about :
‘ - Afvied FE W ER S Eastern Peripheral Expressway : ‘
(a) TE W-ﬂlﬁw—qﬁﬂﬁ T 9 (@) It is also known as Kundli- |
ot e ¢ | Ghaziabad-Palwal Expressway. |
, (b) FWH FW warg 200 Rflo § afis (b) - The total length of this expressway !
4| is more than 200 K.M.
E IR H § PH-91 949 g /8 Which of the above statement is/are
true ?
ﬁ (1) 349 (a) T & ‘ | (1) only (a) is true
| (2) @4 (b) §H & (2) only (b) is true
: @G)AM@AAH (b) TTE - (3) neither (a) nor (b) is true |
ﬂ L(4) (2) IR (b) A 7w ¥ (4) both (a) and (b) are true |
9. frifafad # & fF Rt &1 sen 89. Which of the following districts has the |
; 99 994 F 8 7 lowest population density ?
(1) FE @) R (1) Kamal (2) Sirsa
E (3) 7= (4) M (3) Jhajjar (4) Mewat f
J 90. EfAMT F W gy B g0. 'The state tree of Haryana is :
(1) A (2) A (1) Peepal (2) Khejari |
' (3) 9012 4) i (3) Banyan (4) Neem
Level-3/4314 ;
1 |
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[C]

T~V / PART - IV
/ PSYCHOLOGY

iy : Pl 557 3 ST 83 3 e g e o 90

Direction : Answer the follomnw ing the most appropriate oplion.

91.

92.

93.

94.

() T W

Frt § @ B9-0 6 & TR ¥ 2

OREEERCRECIRER:E
(2) SMv=Re o sHvERe G

.(3) (1) &R (2)

(4) TS TE
a8 IfRd # YeR R omaE 3 Uiy

AT 98 SR @

(2) E-Is-q. tﬂ-‘t:
(4) @’y S

T O AEihE G o R 9w @
R A GE B T S Y T w9,
Pt @1 @ @ Renfasr s&m i 8,
AT

(1) @A

(2) sfrgf

(3) wfefseam femroT

(4) i

A S d (flo T, W) 3
sfeta i =Rol @ A 6

(1) =9 T

(1) R s, SR qe AR

) oy, sl aor e AR
(3) vy, g s dur o
(4) i o, afsifr qer SRR

Level-3/4314

b

91.

92.

93.

94.

Out of the following which are the types
of groups ? ‘

(1) Primary and secondary groups

(2) Formal and Informal groups

(3) Both (1) and (2)

(4) Conformity groups

type which is
proneness 10

The personality
characterized by
depression is :
(1) Type A
(3) TypeC

(2) TypeB
(4) Type D

A mental structure that provides a
framework, set of rules or guidelines for
processing information about any object
is :

.(1) Schema

(2) Attitude
(3) Reaction formation
(4) Symbol

The order of three stages of General

Adaptation Syndrome (GAS) is :

(1) Alarm reaction, Resistance and
Exhaustion

. (2) Exhaustion, Resistance and Alarm

reaction
(3) Resistance,
Exhaustion

(4) Alarm reaction, Exhaustion and
Resistance

Alarm reaction and

P.T.0:
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95.

aamaﬁnsﬁma:ﬁﬁ)mﬁﬁﬁf%gam
frit o frr/afedl @ @ aga
3 o q forar ST ®

(1) STFAYT 2) féar
(3) (4) uferepre

%ﬁmm@wﬁﬁmwmﬁ
&1 fafdree e B -
(1) s

(3) =T -

96.

97.

(2) @¥ g

(4) sfmh

& o afciiear s @ off ae
gzrrmﬁmﬁﬁhzmwwam
(1)

(2) wager

(3) wicfrar Fmtor

(4) FheKRTRToT

A T oRE T B R g
qFar 8

(1) SYEMM ZEerR
(2) STHHE

(3) P w @ Froges
(4) AN

Fraffaa & & fr o @

98.

99.

100.

(1) g
(3) @@ m

Level-3/4314

() &g
4) ey
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95. Seeking information from a person on a
one-to-one basis is :
(1) Psychological test
) Interview .
.(3) Case study
(4) Observation

96. Any behaviour by one person/persons
that is intended to cause harm to another
person/persons is :

(1) Aggression
(3) Frustration

(2) Violence
(4) Retaliation

97. Biologically based characteristic way of
reacting is :
(1) Trait
(3) Habit

.(2) Temperament
.(4) Attitude

98. The defence mechanism in which a
person totally refuses to accept reality
is: |
A1) Denial
(2) Projection
(3) Reaction formation
(4) Rationalisation

Crowding and high density may not
lead to : -

(1) Abnormal behaviour

2) Agéression

(3) Lowered performance

~(4) Adjustment

99.

Which one of the following is not
considered as an important source of
psychological stress ?

(1) Frustration  (2) Conflict

(3) Pressure ~(4) Mood

100.
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101.

102.

103.

104.

“hitp7remsyametamosm

MWQWQ%-WWWW
7 87

(1) STITRdT
(2) TEgHfer @ Agar

(3) gratetaE
(4) T8 I

T FEeR H Gueq olik uRdemr a1
A H H AR JFGar © ¢

(1) STAH-§9F  (2) SIA-|&Ha
(3) TH-FEHT (4) m—ﬁtiavr

fr § QA P9-a1 w9 T & 7

(1) wmst B garE 3 B B

@) wme # Y & fEw], el
ud fraell & ufa orgfRar He
qiaRe 8T g |

(3) el A a1 e § W A
e st 3T T B

4) WS & oicld sfERe, frsaet
A FEEd @ o F T
AT T B |

B fofre atg, GEU B W S
o R Rafed & s aifadn

% 21T e
(1) qrerig g R
(2) 3T A

(3) gHifa
(4) wemRg - e [

Level-3/4314

[21)

101.

[C]

The qualities that are not associated

with the effective counsellor are :
(1) Authenticity
(2) Ability to empathise

(3) Paraphrasing

(4) Giving advice

102. Our ability to organize and monitor our

own behaviour is : ‘
(1) Self-esteem  (2) Self-efficacy
(3) Self-regulation (4) Self-control

103. Out of the following which statement is

104.

correct ?
(1) Counselling is giving advice.

_(2) Counselling involves responding to
the thoughts, feelings and actions
of the clients.

(3) Counselling is selection and
placement of individuals onto jobs
or for courses.

_(4) Counselling is influencing attitudes,

beliefs and behavior by persuading.

Irrational fears related to specific
objects, interactions with others and
unfamiliar situations is :

(1) Generalised anxiety disorder

(2) Panic disorder

(3) Phobias

- (4) Obsessive compulsive disorder

P 1.0,
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P A Pe-ars Read fREd SR
fepar ?

(1) o afigeds

(2) oM S

(3) Sto Ho REHE

4) T age

T B IR B

(1) |rIfSTs Gehlentor 6
(2) GFINTG WER &
(3) & YA H

(4) STEYAT T H

Prefafeg § @ wiffrcs & RE
g '
(1) amea fmfer

(2) wiafes STIoEl @ G HTM

(3) Fofa <

(4) SH AFTEHA H gie BT

F-atR Rre ©h wgE Rdea ¥ 7
(1) g&am @ yfereqet
(3) AR (4) ST

fFfl afm @ BIYE B S B iU
iqfied dwred © ¢

(1) g (2) e
ORERE 4 T3

TS @WRA @ @Rgd 3 Ry
-1 T FXG SAEdl 7@ T 7

(1) dgfm 2R

(2) TFRIHS Sfghy

(3) amife eEEe

(4) o Qi

Level-3/4314
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109.

110.
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[22]

16, Who proposed the two-factor theory of
intelligence ? ;
A1) Charles Spearman
(2) Arthur Jensen
(3) 1.P. Guilford
(4) Louis Thurston

106. The game of tug-of-war is an example
of : '

(1) Social facilitation

(2) Social loafing

.(3) Group polarisation

(4) Bandwagon effect

107. Out of the following the aim of the
psychotherapististo:

(1) Habit formation

.(2) Sharing emotional experiences

(3) Taking decision

~(4) Increasing self awareness

108. Valence is a significant feature of :
(1) Cooperation (2) Competition

(3) Attitude  _(4) Aptitude

109. An individual's underlying potential for

acquiring skill is :
(1) Intelligence _(2) Aptitude
(3) Interest (4) Values

110. Which one of the factor is nor responsible

for positive health and wel] being ?
(1) Balanced diet
(2) Positive attitude
. (3) Social support
(4) Life style

e T AT —

e e e e e S ™
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111.

112.

113.

114.

115,

e TR ST N § B9y o
e o ¥ ol B R o 3 5

(1) TR 9
(2) SRR HH
3) f& g ued
(4) Gad F97

wred & R 7 B
(1) Tt R Hae-4H
(2) T AR BAT-EH
(3) T EE -4
(4) ot wiEpleh HaAT-E
e &1 :

(1) Bres Emget

) fEE BRER

(3) THo o HiBraH

(4) ATIE

o § Y A aE el A
g 72 & 7

(1) ARRE-AT

(2) Grgr-fasT

(3) ufteRi fehre

(4) wepEgfRE AT

EE—— LA

(1 o
(2) oTgE
(3) erausm
4) Py

Level-3/4314

(23]

111.

[C]

out of the following interview
questions which are less direct and
specify only the topic ?

(1) Open-ended question

(2) Close-ended question

(3) Bipolar question
(4) Leading question

112. Health is not a state of :

.(1) Complete physical well-being

(2) Complete mental well-being
(3) Complete social well-being
(4) Complete cultural well-being

113. The concept of cognitive dissonance

was proposed by :
(1) Fritz Heider
(2) Leon Festinger
(3) S. M. Mohsin

.(4) Allport

114. Which out of the following is not

included under Somatoform disorders ?

(1) Depersonalisation

-(2) Pain disorder

(3) Conversion disorder
(4) Hypochondriasis

115. Abnormal behaviour is nof a behaviour

that is :

.(1) Adaptive

(2) Conformity
(3) Exploratory

. (4) Distressing

P.T.O.
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16, W o R @ Rl oW
fepar 2
(1) Pz R
) o o
(3) WeR gt
(4) Frt Qs

N7. T 9= Ve’ a7 o B -
(1) =1 ) s
() = (4) ST

118. - i aifeer a7 o §

A4 71
(1) gf& afer = x 100
HIATgFhiHeh 311G

2 _ PGSy
() & afer = 100

(3) I T = TR oy x
ITHﬁﬁSGTIExlOO

RS AY
ﬂﬂ?ﬂ?ﬁmﬂg + 100

T el Bed o 0% 92 oy @
A A E IR S 6 Y ordime
F fean oI & 99 A% F Rewh o1 ey
St A & aifet o, & R sy R
S 3 ST AR B ERT G g
& foram o R

(1) 9d91 9 & gfafy

(2) A FHa-TmT gy

(3) Al SR FEeT ) gRfy

(4) ITH H q B @

AR a9 S Zoa ¥ e o 3
(1) oI, I qor Py
(2) WS, SR TT o
(3) TR, T T Sy
(4) s, FrEeT qar

Level-3/4314

(4) s afa =

119,

120.

[24]

116. Who formulated the rational emotjye
therapy 9

(1) Viktor Frank|
(2) Albert Ellis
(3) Friedrich Perls
- (4) Carl Rogers

117.  The German word 'gestalt' means :
(1) Big A2) Soul
. Q)_ Whole (4) Respect

118. The formula of Intelligence Quotient
- (IQ)is:

A1) p=MA

CA

CA
2) I0="" '
(2) 1Q i x100 |

(3) I0=CA x MA x 100

x100

MA
4y 10=MA
4 IQ CA+100

119. The technique in which you begin with
a large request and when this is refused
a later request for something smaller, |
the one that was actually desired is
made which is usually granted by the
person:

(1) The foot-in-the-door technique

: (2) ' The deadline technique

.(3) The door-in-the face technique

(4) None of the:above

120. The personality traits of hardiness are :
(1) Creative, commitment and control

(2) Cognitive, commitment and creative

~A3) Challenge, creative and commitment

(4) Commitment, control and challenge

b S et 8 i Ko i b
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121. Fefofeg & 3 - [eare 121. Out of the following which is not a
T % R a7 g 2 hindrance for effective problem solving ?
(1) =i fomamer (1) Mental set
(2) e Rercar ' ' (2) Functional fixedness
(3) ST F 3) Lack of motivation
(4) foim .(4) Judgement
122. 9Rad RB@ w@n # G’Iﬂﬂﬂ'ﬁib_cﬁ a7 122. Variable that is manipulated by the
uRafie fopar o ® researcher in the experiment is :
(1) =& 9Ree ; (1) Extraneous variable
(2) srf3E uRgdd ' {2) Independent variable
(3) e afad (3) Dependent variable
(4) it ofed (4) Control variable
123. FEq: Oy gEel § 9 o g | 123. The Lobe which is mainly concerned
with visual information is :
(1) si@ e (1) Temporal Lobe
(2) 9egeaE qiier ~(2) Occipital Lobe
(3) "ifkde wifer "~ (3) Parietal Lobe
(4) @@ qifer (4) Frontal Lobe

124. THIRYT & AT g Ta-far @ 46 124. At the time of conception, the organism

O GRS Ee— inherits 46 chromosomes from parents,

- R Rar d1 | e from the mother and ..........
from the father.

(1) 40,6 (2) 6,40 (1) 40,6 @) 6,40

3) 20,26  .(4) BB () 20,26 «4) 23,23

125. Which among the following is
responsible for controlling how much
light enters the eyes ?

125, P & @ A g8 P FO
3 o s 3 5 o # R Ao
¥ yeprer g9 &Rl © 7
(1) Yesi/gfteves (2) FHE1/ETE

@) Mafe @) &9

(1) Retina -12) Comnea
(3) I (&) Lens

Level-3/4314 10,

Scanned by CamScanner



[C]

126.

127.

128.

129.

130.

ST B qe e R T AT
¥ o B, oy AW oftwgEar @ T

FA # A | FC @ I & T

%:

(1) Yo (2) AR
3) freiRmERenr  (4) e
gl 9 A-wr e ? '}

(1) ), SeE, s, we
() wgwe, s, A, are
(3) dardl, wéift, Sgewed, we

(4) ST, T, G, FEk

ADHD & 2 ?
(1) sraum feepr erfafhar R

(2) Tau AT AR HR
(3) STag FeAaT SR =g

(4) e faeBre Srffpar e

‘e Ay HE-E e 7
(1) by
(2) og Y

(3) fges ufR
(4) IWH H q B3 T

qait & Frame @ mafs 3 Y

(1) aHe
(2) Id®
(3) SUATH

(4) IYETHEA T

' Level-3/4314

[26]

126.

127.

128.

129.

130.

http://haryanatet.com

The stage of life that begins at the onset
of puberty, when sexual maturity, of the
ability to reproduce is attained, 15 :

(1) Infancy (2) Childhood

.(3) Adolescence (4) Adulthood

- Which is the correct sequence ?

(1) Preparation, Incubation, [lluménation,
Verification

(2) Incubation, Illumination, Preparation,
Verification

(3) Preparation, illumination, Incubation,
Verification

(4) Incubation, Preparation, Verification,
.Illuminalion

What is ADHD ?

(1) Attention Disorder Hyperactivity
Disorder ;

(2) Attention Deficit Hyperactivity
Disorder

(3) -Attention Deficit Hyperactivity
Deficit

(4) Attention Disorder Hyperactivity
Deficit

Which is the 'Master Gland" ?

(1) Pituitary Gland
(2) Thyroid Gland
(3) Adrenal Gland
(4) None of the above

The primary centre for regulation of
emotion is :

(1) Cortex

(2) Thalamus

.(3) Hypothalamus

(4) Limbic System
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131. In classical conditioning experiment on
dog 'food' was :
(1) Unconditioned Response (UR)
(2) Unconditioned Stimulus (US)
.(3) Conditioned Stimulus (CS)
(4) Conditioned Response (CR)

132. The consistency of scores obtained by
an individual on the same test on two

different occasions is :
(1) Validity (2) Objectivity
(3) Reljability (4) Norms

133. Who  published  'Principles  of
Psychology' in 1890 ?

(1) William James
.(2) Wilhelm Wundt
(3) John B. Watson -
(4) William Sperry

134. A positive correlation indicates that :

) As the value of one variable (X)
incrcases, the value of the other
variable (Y) will also increase.

- (2) When variable (X) decreases, a
' decrease in (Y) too takes place.

(3) Value of one variable (X)

increases, the value of the other ()

decreases.

(4) Both (1) & (2)

P.T.0.
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135. 9@ @ fqeareRss Qo &% fore ﬁ. g,: 135. The conflict in which one has to choose
T FC ug 8, A A Lo between two positives and desirable
48 alternatives is :
(1) SUMH-IUFH E& (1) Approach-approach conflict
(2) NER-9RER Z& (2) Avoidance-avoidance conflict
(3) SUFH-IRER g2 (3) Approach-avoidance conflict
- (4) MRER-SIFH gE .(4) Avoidance-approach conflict

136. 99 % I9ER & fou 9=d g GRED 136.. An exposure that takes place in vivo
Rred e @ awdfas ST 9% 3 (e.g., with an actual feared object) and
T HT HE A 8, T © _ is considered to be the most effective of

all treatments for fear is :

(1) e e .(1) Systematic desensitization
(2) it Which Tl (2) Implosive therapy
(3) fersiar Fafern ‘ (3) Aversion therapy
(4) SATE (4) Flooding

) - 7 il AR § A 1 &  J—— L Psychology studies the
gEael @6 & sied R § R physical, social and psychological
Y U SRl A BN g e, changes that occur at different ages and
AN Td  HAldse  OiREder @ stages over a life-span, from conception
AT HIT B | to old age. )
(1) 3w - (2) @A (1) Biological (2) Health
(3) TN (4) TS (3) Social "+ (4) Developmental

138. AWl & oTEgET T H - 138. Which is the highest need in Maslow's
SEITH AGTHT & 7 " hierarchy of needs ?
(1) GR& &1 STasae (1) Safety needs
(2) RIS ST (2) Physiological needs
(3) T Ft T (3) Esteem needs
(4) arw fofs & emaggesar ; _(4) Self-actualisation needs

139. B ﬁ'iéliﬁ_ [ o & T 3 R 139. The basic unit of our nervoys system is :
(1) SHEFeIg (1) Axon
2 \"Tﬁl?ﬂ - Y Gy (2) Synapse
(3) P @fﬁliﬁrﬁ'[ (3) Neurons
(4) % it GE| -(4) Central Nervous System
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g A T gdve dm FHECT
gferqres fpar e :
(1) B=1(P, P)
2) B={(P, E)
(3) B={(E, E)
(4) B=f(P, H)
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140. A kind of memory that a person is not
aware of and is retrieved automatically
I8 semesssasings
~(1) Flashbulb memory
(2 Autobiographical memory
(3) Implicit memory
(4) Explicit memory

141. Approximate age of  concrete
operational stage is from :
‘(1) 0-2 years
(2) 2-7 years
,(3) 7 - 11 years

(4) 11 -15 years

142. The highness or lowness of a sound is
referred to as :
(1) Amplitude  (2) Pitch
(3) Loudness  «{(4) Timber

143. Out of the following which one is nof a
goal of psychological research ?
(1) Prediction
A2) Explanation
(3) Control of behaviour
(4) Manipulation

144. Kurt Lewin first proposed the famous
equation :

(1) B=1(P,P)

(2). B=f(P,E)

3) B=(E, E)

(4) B={(P, H)

P.T.Q.
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145. In Free Recall, it is easier to leam the
words which are in the ............ or
------------ of the list.

(1) Middle, End

(2) Beginning, Middle
(3) Beginning, End
(4) Only Middle ones

146. In 1955 National Institute of Mental
" Health And Neurosciences NIMHANS)
was established at :

(1) Ranchi (2) Calcutta
- (3) Bangalort? (4) Haryana

147. Motivated forgetting is also known as : 1
(1) Trace Decay
(2) Interference
(3) Retrieval Failure
(4) Repression

148. Who was of the view thatllanguage
determines the contents of thought ? [
(1) Benjamin Lee Whorf ,
.(2) Lev Vygotsky i
(3) Jean Piaget
(4) Noam Chomsky i

149. Short-Term Memory (STM) can hold
information upto :

(1) 30seconds —(2) 1 minute
(3) 5 minutes (4) 1 hour

L [ FRE——— refers to the increase in the size
of body parts or of the organism as a
whole which can be quantified or
measured.

A1) Growth (2) Development
(3) Maturation ,(4) Evolution

(3) T (4) Ry
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